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FORENSIC SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1.  First chemical examiner’s laboratory in India was established in
(A) Agra (B) Bombay
(C) Calcutta (D) Madras

2.  Finger print examination is associated with

(i) Malphighi (ii) Hans Gross

(iii) Galton (iv) Heindl

(A) (i), (i) and (iii) are correct (B) (i), (ii) and (iv) are correct
(C) (i), (ii1) and (iv) are correct (D) (), (iii) and (iv) are correct

3.  Match the following :

List -1 List — 11
(a A.S.Curry (i) Finger print
(b) Goddard (i1)) Document examination
(¢) Cherill (iii) Poison examination
(d) Hilton (iv) Forensic Ballistics
Code :

(a) (b) (c) (d)
@ @ (ii) ) @)
B @  aGv) ® (iii)
© @) aGv) M (ii)
O Gv) ) (iii) ®

4. The control soil sample for matching the incriminated soil sample of foot print should
be collected from
(A) Foot print itself
(B) About 2-3 inches away from foot print
(C) About 1 feet away from foot print
(D) More than 1 feet away from the spot

5. Physical evidences at the scene of crime should be collected in the presence of
(A) Relatives of victim (B) One independent witness

(C) Two independent witnesses (D) Magistrate

6. Numerical aperture of a lens in a microscope is represented by

(A) 12nsin® (B) nsin6
. 0.61 A
(C) 2nsinH (D) sin®
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(A) 12nsin® (B) nsin6
0.61 A
(C) 2nsinH (D) sin 6



7. Assertion (A) : Vacuum is maintained in electron microscope.
Reason (R) : Vacuum impedes movements of electrons.

Code :
(A) (A)is true, but (R) is false. (B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true. (D) Both (A) and (R) are false.
8. Hidden metallic objects can be detected by
(A) NMR (B) Soft X-rays
(C) NAA (D) Hard-X-rays
9. Bolometer is used as detector in
(A) LR. Spectrophotometer (B) UV Spectrophotometer
(C) Colorimeter (D) NMR
10. Arrange the following types of chromatographic examination in the increasing order :
i GLC (ii) Column Chromatography
(iii) HPTLC (iv) HPLC
Code

(A) (1), (ii), (iii) and (iv) are correct.  (B) (i), (iv), (i1) and (iii) are correct.
(C) (i), (), (iv) and (iii) are correct. (D) (iii), (i), (iv) and (ii) are correct.

11. Rh antigen in blood is also known as

(A) A antigen (B) B antigen
(C) D antigen (D) AB antigen
12. Cellular proteins in blood are the following :
i PGM (ii) HP
(iii)) EAP (iv) GC
Code :
(A) (i) and (iii) are correct (B) (i1) and (iii) are correct
(C) (ii) and (iv) are correct (D) (i) and (iv) are correct

13. Assertion (A) : Vomited blood is acidic in reaction.
Reason (R) : Itis due to the action of gastric juice.

Code :
(A) (A)is true, but (R) is false. (B) (A) is false, but (R) is true.
(C) Both (A) and (R) are false. (D) Both (A) and (R) are true.

14. Arrange the following methods of blood examination in the decreasing order :
(i) Protein enzyme estimation (i) Percipitin test
(iii) Crystal test (iv) DNA analysis
Code :

GV ) (ii) () (1)
B) i) @ (iv) (i)
© ) (D) (iv) (1)

D) G ® (ii) (ii1)
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15. Match the following :

List -1 List — 11
(a) MN i) WBC
(b) ESD (i) Red cell antigen
(c) GC (i) Red cell isoenzyme
(d) HLA (iv) Serum protein
Code :

(a) (b) (c) (d)
(GO (ii) (i) (1)
B)  @{v) @ (ii) (ii1)
© Gy (i) (iv) (1)
D) i) O (ii) (iv)

16. Adulteration of gasoline with Kerosene oil can be detected by

(A) TLC (B) GLC
(C) HPLC (D) HPTLC
17. Diacetyl morphine is also named as
(A) Mascaline (B) Psilocybin
(C©) LSD (D) Heroin
18. Match the following :
List -1 List — 11
(Drug) (Street Name)
(a) Heroin (i) Angel dust
(b) Marijuana (i) Junk
(c) Amphetamine (i) Up
(d) Phencyclidine (iv) Pot
Code :

(a) (b) (c) (d)
(GYRENC) (ii) (i) (1)
B) @@ v (iii) ®
©  aGv) (i) (ii) (1)
D) G ® (ii1) (i)

19. Botulism is a form of

(A) Volatile poison (B) Food poisoning
(C) Pesticide (D) Metallic poisoning
20. Arrange the following with the increasing quantity of THC in Canabis Sativa
(i) Ganja (ii) Bhang
(iii) Charas (iv) Hasish oil
Code :

(A) (ii), (i) (iii) and (iv) are correct (B) (), (i), (iii) and (iv) are correct
(C) (iv), (1ii), (i1) and (i) are correct (D) (), (iv), (ii1) and (i1) are correct
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21. The usual barrel length of a Carbine is
(A) 6" (B) 12"
(© 22¢ (D) 30"

22. The improvised cylinder in a shot gun is having the following type of constriction at the
muzzel end of the barrel
(A) 1/1000 inch (B) 3/1000 inch
(C) 10/1000 inch (D) 20/1000 inch

23. Assertion (A) : Diameter of the chamber in a fire arm is slightly greater than the
diameter of the cartridge to be fired.
Reason (R) : It accommodates the expansion of the cartridge case during the firing

process.
Code :
(A) (A)is true, but (R) is false. (B) (A) is false, but (R) is true.
(C) Both (A) and (R) are false. (D) Both (A) and (R) are true.
24. Walker test of gun shot residue is done to detect the presence of
(A) Nitrate (B) Nitrite
(C) Sulphate (D) Iodide
25. PETNis
(A) Penta Erythrital Trinitrate (B) Penta Erythritol Dinitrate
(C) Penta Erythritol Tetranitrate (D) 1-Nitroguaindine
26. Seminal fluid contains one of the following component :
(A) Colostrum (B) Prostaglandin
(C) Haemoglobin (D) Acid haematin

27. Assertion (A) : Clothes stained with semen should be dried properly before despatch
for forensic analysis.
Reason (R) : Drying will facilitate fungal and bacterial growth.

Code :
(A) Both (A) and (R) are true. (B) Both (A) and (R) are false.
(C) (A)is false, but (R) is true. (D) (A)is true, but (R) is false.
28. Match the following :
List -1 List — 11

(a) Vegetable fibre (i) Asbestos

(b) Animal fibre (i) Acyrlic

(c) Metallic fibre (iii) Fur

(d) Artificial fibre (iv) Hemp

Code :

(a) () (c) (d)
A O (i) (iii) (iv)
B) (@) (ii1) (1) (iv)
©) (i) (i) (iv) (1)
D) Gv) i) (1) (ii)
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D) aGv) (i) M (ii)



29. The cross — section of human male beard hair is
(A) Elliptical shape (B) Triangular shape
(C) Circular shape (D) Oval shape

30. Casein is present in
(A) Saliva (B) Semen
(C©) Milk (D) Sweat

31. The wave like fracture in glass sheet is found by
(A) Impact (B) Bullet penetration
(C) Heat (D) Compression

32. Arrange the examination methods of soil in the proper order :
(i) Thermogravimetric technique (i) Physical analysis
(iii) Density distribution (iv) Colour
@A O (i1) (i) (iv)
B) () @ (i) (iii)
©  Gv) (D) (i) @
D) G (iv) (iii) ®

33. The oldest liquid ink is
(A) TIron gallotenate ink (B) Aniline ink
(C) Chinaink (D) Log wood ink

34. The following percentage of line matching is the criteria of positive matching in
striation tool mark.

(A) 30% (B) 40%
©) 50% (D) 60% and above

35. The examination of gait pattern includes

(i)  Size of foot print (i) Step length

(iii)) Walking line (iv) Angle of foot

Code :

(A) (1) and (ii) are correct. (B) (i) (i), (iii) and (iv) are correct.
(C) (1) (ii) and (iii) are correct. (D) (i1) and (iv) are correct.

36. Chalescopy is the study of
(A) Iris print (B) Ear print
(C) Lip print (D) Bite mark
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30. FAAfHeAE:
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33. UEIMOH TR ERIE

(A) e Treiene @l (B) THIA @l
(C) = wmr (D) @rTeE @
34, T SR foe § TehRTeash 6T 3 fore Y faet s argve Feran @
(A) 30% (B) 40%
(C) 50% (D) 60% 3R 3k
35. USHTeT S UEEH | IMEAE
() % F Fem A (i) 3H I o=
(ili) = =t @ (iv) IS I HIOT
WS :
(A) (1) AR (i) FEI € | B) (), (i), (iii) 3R (v) T |
(C) (i), (ii) 3R (iii) T & | (D) (ii) 3R (iv) THE |
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(A) ITRRE 3™ (B) &M HI BT
(C) TeH B (D) A E FHEH BT



37. Match the following :

List -1 List - IT
(Age) (Ossification of bone)
(a) By 7-8 years (i) Lateral epicondyle of the humerous unites

(b) By 10-12 years (ii) Rami of pubis unite
(c) By 13-14years (iii) Sacral vertebrae unite
(d) By 23 years (iv) Pissiform Ossifies
Code :
(@) (b) (©) (d)
@A O (iii) (iv) (i)
B) Gy  (Gv) (1) (iii)
<© Gy Gv) (iii) @
D) (D) @ (iv) (ii)
38. Assertion (A) : Decomposed bones lose weight and become fragile.
Reason (R) : Due to loss of organic matter.

Code :
(A) Both (A) and (R) are true. (B) Both (A) and (R) are false.
(C) (A)is true, but (R) is false. (D) (A) is false, but (R) is true.
39. Gustafson’s method is used for the determination of the following in human being
(A) Sex (B) Age (C) Race (D) Stature
40. Shoe prints can be identified on the basis of the following :
(i) Size (i) Weight
(i1i) Wear and tear marks (iv) Sole design
Code :
(A) (i), (i) and (iii) are correct (B) (i), (iii) and (iv) are correct
(C) (1), (ii1) and (iv) are correct (D) (i), (iv) and (i) are correct
41. The probable age of ink can be determined with the following methods :
(i)  Diffusion of chloride ion (i) Diffusion of sulphate ion
(iii) Diffusion of nitrate ion (iv) Okxidation of ferrous into ferric ion
Code :
(A) (i), (i) and (iv) are correct (B) (i), (ii) and (iii) are correct
(C) (i), (ii1) and (iv) are correct (D) (), (iii) and (iv) are correct
42. Match the following :
List -1 List — 11
(Secret Writing) (Restoration Material)
(a) Castor oil (i) Heat
(b) Onion Juice (i1)) Ammonium Sulphide
(c) Starch (iii) Water
(d) Lead Salt (iv) lodine Vapour
Code :

(a) (b) (c) (d)
GV ) (ii) i) (1)
B)  Gv) (i) (ii) )
© @) @ (iv) (i)
O @ v (iii) ®
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S o 9T Rl TeaT 0 & TR W ol ST Fehell € -
() WS (i) ===

(iv) oot & fesred

(iii) Te-Fe o R
a,ﬁg- .

&) (). i) 3 (i) TEE |
(©) (i), (iii) &R (iv) T |

(B) (i), (iii) 3R (iv) W& |
(D) (i), (iv) 3R (i) WA E |

T St Fifer 31y iTeRd aiich | FHfeer ot S Tt & :

() FIRTES I HT foR0T (Fetr)

(ili) TEee 3T 1 foRon
aﬁg.

(A) .(i), (ii) 3R (iv) T E |
(C) (i), (iii) 3 (iv) W ¥ |

fereiteRet AT fieT SHifsTu :

(i) HeWhe AT o foraaor

(iv) T 1 e ST SHATRAROT
B) (i), (ii) AR (iii) FIE |

D) (). (iii) 3R (iv) T E |

-1 et-11
(@%‘@m) (T: TS e BT UeTed)
(a) SRS FaAA (i) s
(b) TSRS (@) (i) IHIEH GowES
(©) (mite:) (i) <
a»%) i =T 0T (iv) ST 9T
(a) (b) (c) (d)
A @ (ii) (iii) (iv)
B)  Gv) (i) (i1) @)
© (i) @ (iv) (i1)
D) G (v (iii) @)



43. Ink can be removed from the paper for TLC by
(A) Blade (B) Khnife
(C) Hypodermic needle (D) Ethanol

44. Composite pattern of finger print comprises of

(i) Tented arch (ii) Radial loop

(i1i) Central pocket loop (iv) Twinned loop

Code :

(A) (i) and (ii) are correct. (B) (i1) and (iii) are correct.
(C) (iii) and (iv) are correct. (D) () and (iv) are correct.

45. Ninhydrin develops latent fingerprints by reaction with
(A) Fatty acid (B) Sodium chloride
(C) Amino acid (D) Glucose

46. Cadaveric spasm in the hand holding a pistol is a sign of
(A) Murder (B) Suicide
(C) Accidental death (D) None of the above

47. Adipocere is seen in the dead body in the following condition :
(A) Ordinary open place (B) Shallow and moist place
(C) Desert (D) Air tight room

48. In antemortem drowning the following evidences are found
(i) Clenching of moss, grass and muddy material.
(i1)) Froth in the mouth.
(iii)) Faecal matter in clothings.
(iv) Presence of diatoms in bone marrow

Code :
(A) (i), (i) and (iii) are correct (B) (i), (ii) and (iv) are correct
(C) (1), (ii1) and (iv) are correct (D) (iii), (iv) and (i) are correct
49. Neonaticide is the deliberate killing of a child within hours of its birth.
A 12 B) 24
©) 36 (D) 72
50. These are the forms of sexual perversion.
(i) Rape (i) Sadism
(iii) Masochism (iv) Exhibitionism
Code :
(A) (i), (ii1) and (iv) are correct (B) (), (i), (iii) and (iv) are correct
(©) (), (ii), (iii) are correct (D) (i) and (ii) are correct



43. U G % foTU et @ @Rl e o g STerT Bl ST Wehdl €

(A) =Tg (B) =%
(C) 3T g (D) U
44. 3TeT BT F HiYT yER 4 R €
() Zfeeema (i) Tt
(iii) H2eT diche o (iv) feorre o
e
(A) (i) 3R (i) T E | (B) (i) 3R (iil) W € |
(C) (iii) 3R (iv) T E | (D) (i) 3R (v) TIE |
45. FeTeieT fm o are wfdfshan & sTgva 3ol foe ot foshfad ohedl €
(A) I ufEs (B) difeaw FARTES
(C) it ufee (D) ToThE
46. T IR I 3THST & HROT &1 B SThel g8 et =1 ol Tga &
(A) & (B) 3freHee
(C) TATITY (D) STgH B 9 I T&l
47. T IRR ¥ EER Freifena feufa o feam 3t € -
(A) WTERYT Gedl ST (B) YT 7 I
(C) woEe (D) & o< HET

48. TG W Y g o AIHe | TR FHTOT ferd € -
(i) TS H FE, 99 IR HAg
(i) HEHzm
(ili) ST T AT ST T Y17 ST

(iv) 3T AosTT § SEcHT ot SURATd

wE
(A) (D), (i) 3R (iii) T | B) (i), (i) 3R (iv) T T |
(C) (ib), (iii) 3R (iv) W E | (D) (iii), (iv) 3R (i) WETE |
49. osT fore] B forg] o < % U2 % 3T ST Y AR i Fed & |
(A) 12 (B) 24
(©) 36 D) 72
50. = M fEpd & PR & :
(i) ToTPR (i) ORUIST — HTHHAT
(iii) AT (R-Tfea-hmgehdT) (iv) VR
e
(A) (i), (iii) 3R (iv) FEI & | B) (i), (ii), (iii) 3R (iv) FEI& |
(©) (i), (ii) 3R (iii) FEI € | (D) (i) 3R (ii) TEIE |
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